

## PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

May 10, 2018

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street Toronto, ON PIAC FILE # 6680

VIA E-Mail 17 pages

M4P 1E4

Dear Ms. Walli:

Re:

Board File No. EB-2016-0085 - Innpower Corporation

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

On behalf of the Vulnerable Energy Consumers Coalition (VECC) we have attached their cost claim with respect to the above-noted proceeding. We have also directed a copy to the Applicant as well as their counsel via email.

Thank you.

Yours truly,

Donna Brady Office Administrator

Cc:

Innpower – Brenda Pinke – <u>brendap@innpower.ca</u> Innpower – Jennifer Cowles – <u>jenniferc@innpower.ca</u>

Counsel – John Vellone – jvellone@blg.com



### **Affidavit and Summary of Fees and Disbursements**

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

and the state of t	Commence of the control of the contr		able, state	ormulas are embedded in the form to assist we exchange rate and country of initial currency.	
Disbursement However, or - The cost cla - A CV for ea	nts Being Clair nly one "Sumn aim must be s ach consultant	med") is required for each nary of Fees and Disburs upported by a complete /analyst must be attach	ch lawyer, a sements" co ed Affidavit ed unless p	Country:  d" (comprising a "Statement of Fees Being Classian and articling student/parasovering the whole of the party's cost claim sharing by a representative of the party.  provided to the Board as prescribed on the Co	legal. ould be provided. ost Award Tariff.
File # EB-	2016-0085		8	Process: Innpower Corporation	
Party:	Vulnerable	Energy Consumers C	oalition	Affiant's Name: Donna Brady	
HST Numb	er: 1305	9 2405		HST Rate Ontario:	3.94%
		Full Registrant Unregistered Other		Qualifying Non-Profit Tax Exempt	
I, in the Pro	vince/State	Donna Brady of Or	ntario	, of the City/Town of, swear or affin	Ottawa rm that:
2. I have exa Being Claime 3. The attacl Disburseme Ontario Ene 4. This cost of	amined all of the ed", "Statementhed "Summary ints Being Clair rgy Board pro- claim does not	he documentation in sunt(s) of Fees Being Claim of Fees and Disbursem med" include only costs cess referred to above.	pport of th ned" and "S ents Being incurred ar ork done, o	is cost claim, including the attached "Summar itatement(s) of Disbursements Being Claimed Claimed", "Statement(s) of Fees Being Claimed time spent directly for the purposes of the or time spent, by a person that is an employed frection on Cost Awards.	ry of Fees and Disbursements ". ed" and "Statement(s) of Party's participation in the
Signature	of Affiant			<del></del>	
in the Pro	vince/State <i>Becy</i>	el-Busin	/Town of Intario	Ottawa , on MAY/ (date)	10-2018
Commissi	oner for tak	ing Affidavits			



### Affidavit and Summary of Fees and Disbursements

File # EB-	2016-0085		Process: Inn	power Corporation
Party:	Vulnerable Energy Co	nsumers Coalit	on	
	Su	ımmary of Fe	s and Disburseme	nts Being Claimed
Legal/con:	sultant/other fees	\$	36,543.00	
Disbursen	nents	\$	<del>-</del> 2	
HST		\$	1,415.38	
<b>Total Cost</b>	: Claim	\$	37,958.38	

Payment Information						
Public Interest Advocacy Centre						
1204-ONE Nicholas Street						
Ottawa, ON	· ·					
K1N 7B7						
	Public Interest Advocacy Centre  1204-ONE Nicholas Street Ottawa, ON					



File # EB-	2016-0085		Process: Innpower Corporation				
Party:	Vulnerable Energy Consumers Co	palition	Service Pro	ovider Name: Cynthia Khoo			
	SERVICE PROVIDER TYPE Legal Counsel	(check one )	Year Called to Bar 2016	Completed Practising/Years Experie	of Relevant		
	Articling Student/Paralegal Consultant Analyst		2010	Hourly Rate:	\$170		
	For Consultant/Analyst:		ched ided within previous	HST Rate Charged (enter %):	3.9%		

St	atement o	of Fe	es Being	Cla	imed	14/1		N 3	S. Carlotte
	Hours		urly Rate	_	Subtotal		HST		Total
Pre-hearing Conference									
Preparation		\$	170.00	\$	-	\$	:=:	\$	-
Attendance		\$	170.00	\$	-	\$	-	\$	-
Technical Conference									
Preparation	3.40	\$	170.00	\$	578.00	\$	22.77	\$	600.77
Attendance	3.00	\$	170.00	\$	510.00	\$	20.09	\$	530.09
Interrogatories									
Preparation		\$	170.00	\$	-	\$	(=)	\$	-
Responses		\$	170.00	\$		\$	-	\$	-
Issues Conference									
Preparation		\$	170.00	\$		\$	(¥:	\$	-
Attendance		\$	170.00	\$	-	\$		\$	-
ADR - Settlement Conference									
Preparation		\$	170.00	\$	-	\$	-	\$	
Attendance		\$	170.00	\$	('2	\$	(5)	\$	2
Proposal Preparation		\$	170.00	\$	1.0	\$	-	\$	-
Argument									
Preparation	12.70	\$	170.00	\$	2,159.00	\$	85.06	\$	2,244.06
Oral Hearing									
Preparation	26.60	\$	170.00	\$	4,522.00	\$	178.17	\$	4,700.17
Attendance	9.20	\$	170.00	\$	1,564.00	\$	61.62	\$	1,625.62
Other Conferences									
Preparation		\$	170.00	\$	1+	\$	-	\$	
Attendance		\$	170.00	\$	-	\$	(5)	\$	
Case Management	2.50	\$	170.00	\$	425.00	\$	16.75	\$	441.75
TOTAL SERVICE PROVIDER FEES				\$					

# InnPower Corporation (EB-2016-0085) -- Time Docket -- Cynthia Khoo

Date	People	121 - 31 - 31 - 31 - 31 - 31 - 31 - 31 -	Project	Task	Hours	Rate	Line Item	Note
2017-09-11	CK	Vulnerable Energy Consumers Coalition (VECC)		OEB - -Review/Process Documents	1.1	\$170.00	\$178.50	Review file & prep for Technical Conference
2017-09-11	CK	Vulnerable Energy Consumers Coalition (VECC)		OEB - -Review/Process Documents	1.4	\$170.00	\$240.83	Review file & prep for Technical Conference
2017-09-12	CK	Vulnerable Energy Consumers Coalition (VECC)		OEB - Review/Process Documents	0.9	\$170.00	\$147.33	Review file & prep for Technical Conference
2017-09-12	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Research	3.0	\$170.00	\$510.00	Attend technical conference
2017-09-29	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare - Cross- Examination	0.8	\$170.00	\$127.50	Prepare cross- examinations
2017-09-30	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare - Cross- Examination	0.8	\$170.00	\$127.50	Prepare cross- examinations
2017-10-01	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare - Cross- Examination	1.9	\$170.00	\$325.83	Prepare cross- examinations
2017-10-01	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare · Cross- Examination	1.3	\$170.00	\$221.00	Prepare cross- examinations
2017-10-01	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare Cross- Examination	3.5	\$170.00	\$586.50	Prepare cross- examinations
2017-10-02	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare Cross- Examination	2.8	\$170.00	\$467.50	Prepare cross- examinations
2017-10-02	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare Cross- Examination	0.9	\$170.00	\$147.33	Prepare cross- examinations
2017-10-02	CK	Vulnerable Energy Consumers Coalition (VECC)	InnPower EB-	OEB - Prepare Cross- Examination	2.2	\$170.00	\$379.67	Prepare cross- examinations
2017-10-02	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare Cross- Examination	2.7	\$170.00	\$459.00	Prepare cross- examinations
2017-10-02	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare Cross- Examination	1.2	\$170.00	\$209.24	Prepare cross- examinations
2017-10-03	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Prepare Cross- Examination	1.9	\$170.00	\$328.67	Prepare cross- examinations
2017-10-03	CK	Vulnerable Energy Consumers Coalition (VECC)	InnPower EB-	OEB - Prepare Cross- Examination	1.0	\$170.00	\$170.00	Prepare cross- examinations

2017-10-03	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB 2016-0085	OEB - Attend -Hearing	2.8	\$170.00	\$481.67	Attend hearing; cross examine witnesses
2017-10-03	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB 2016-0085	OEB - Prepare - Cross- Examination	2.9	\$170.00	\$495.83	Attend hearing
2017-10-03	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB 2016-0085	OEB - Prepare - Cross- Examination	5.9	\$170.00	\$994.50	Prepare cross- examinations
2017-10-04	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB 2016-0085	OEB - Attend - Hearing	3.5	\$170.00	\$595.00	Attend hearing; cross examine panel 2
2017-10-28	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting -	1.9	\$170.00	\$314.50	Draft final arguments
2017-10-29	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting	2.3	\$170.00	\$388.17	Draft final arguments
2017-10-29	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting	4.0	\$170.00	\$680.00	Draft final arguments
2017-10-29	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting	3.0	\$170.00	\$510.00	Draft final arguments
2017-10-30	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting	1.5	\$170.00	\$255.00	Draft final arguments
2017-11-01	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting	2.0	\$170.00	\$340.00	Review file and draft letter re microFIT and pole attachments
2017-11-01	CK	Vulnerable Energy Consumers Coalition (VECC)	VE 0012 InnPower EB- 2016-0085	OEB - Drafting	0.5	\$170.00	\$76.50	Revise and file microFIT / pole attachment letter

Subtotal	57.4	hours	\$9,757.58
HST (13%)			\$1,268.48
Total			\$11,026.06

Cynthia Khoo

**External Counsel, Regulatory Affairs** 

Public Interest Advocacy Centre 1139 College Street Toronto, ON M6H 1B5 604.725.5484

ckhoo@piac.ca

#### STATEMENT OF ACCOUNT

May 10, 2018

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re:

Board File No. EB-2016-0085

Innpower Corporation

**Vulnerable Energy Consumers Coalition (VECC)** 

**Cost Claim** 

For Services Rendered as Counsel in the above-noted matter.

RATE: \$170.00 per hour

To receipt, review, attend on behalf of VECC in the above-noted proceeding.

September – November 2017

TO: Hours

57.4 Hours @ \$170.00 per hour

9,758.00

HST @ 13%

1,268.54

TOTAL AMOUNT DUE AND OWING:

\$11,026.54

Cynthia Khoo - HST # 739361897



File # EB-	EB-2016-0085		Process: Innpower Corporation					
Party:	VECC		Service Pro	ovider Name: Ben Segel-Brow	'n			
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experie	of Relevant			
	Legal Counsel Articling Student/Paralegal	7	2017					
	Consultant Analyst			Hourly Rate:	\$170			
	For Consultant/Analyst:	CV atta	ched vided within previou	HST Rate Charged (enter %):	3.9%			

St	atement o	of Fe	es Being	Clair	med	SER	2000	
	Hours	_	urly Rate	_	ubtotal		HST	Total
Pre-hearing Conference								
Preparation		\$	170.00	\$	(*)	\$		\$ 787
Attendance		\$	170.00	\$	151	\$		\$ 9.77
Technical Conference								
Preparation		\$	170.00	\$	2	\$	7.	\$ NA.
Attendance		\$	170.00	\$	3803	\$	-	\$ 3 <b>.</b> €3
Interrogatories								
Preparation		\$	170.00	\$	(5)	\$	Æ	\$ S=1
Responses		\$	170.00	\$		\$	-	\$ · ·
Issues Conference								
Preparation		\$	170.00	\$	(40)	\$	u	\$ 9 <b>2</b> 5
Attendance		\$	170.00	\$	*	\$	-	\$ 3 <del>4</del> 5
ADR - Settlement Conference								
Preparation	2.50	\$	170.00	\$	425.00	\$	16.75	\$ 441.75
Attendance		\$	170.00	\$	420	\$	2	\$ (20
Proposal Preparation		\$	170.00	\$	(4)	\$	-	\$ (4)
Argument								
Preparation		\$	170.00	\$	100	\$	-	\$ S#3
Oral Hearing								
Preparation		\$	170.00	\$	(E)	\$	=	\$ 2
Attendance		\$	170.00	\$	140	\$	2	\$ ( <del>4</del> )
Other Conferences								
Preparation		\$	170.00	\$	**	\$	-	\$ 
Attendance		\$	170.00	\$	-	\$	7:	\$ 
Case Management		\$	170.00	\$	20	\$	=	\$ -
TOTAL SERVICE PROVIDER FEES				\$	425.00	\$	16.75	\$ 441.75

May 10, 2018 14:11:53

**Public Interest Advocacy Centre** 

1 7

User:

6680

Page:

**Client Summary** 

Date of Report: **Include Transactions:** 

Jan 01, 1980

May 10, 2018 May 10, 2018 to

Alphabetic

Report by:

For Lawyer(s):

Client Range:

Working Lawyer

Ben Segel-Brown

6680 to

Area of Law Range:

1

to 199

Non-billable Time Excluded

Sort by:

Sept. Sec.

Plate 02/05/386 manustra.

05310-18

La

1. 1. 1.

Client#	Mat Client Name	Matt	er Description	Resp				
	Code			Work in Progress			Billed	
Date	N/B Description		Hours	Fees	Disb.	Hours	Fees	Dish
6680	OEB EB-2016-0085	OEB		BSB				
01/04/18	Discussion with Jen and Bill in preparation for Monday settlement	BSB	0.50	85.00				
May 10.	conference.							
01/05/18	Creating calaculation worksheet for	BSB	2.00	340.00				
Date of :	metariala							
Include 02/07/18	Research and analysis regarding wireline polie attachment charges	BSB				2.00	340.00	
02/07/18	Research and analysis regarding wireline polie attachment charges	BSB				-2.00	-340.00	
02/09/18	Research and analysis regarding wireline polie attachment charges	BSB	2.50	425.00				
05/10/18 National Edition	Audit 379 Write-off Research and analysis regarding wireline polie attachment charges	BSB	-2.50	-425.00				
Total	al Client:	_	2.50	425.00	0.00	0.00	0.00	0.00
antine Karai <mark>G</mark> ra	nd Total:	-	2.50	425.00	0.00	0.00	0.00	0.00

Benjamin Dean Segel-Brown Professional Corporation PH08-1203 Maritime Way Ottawa, ON K2K 0H5

#### STATEMENT OF ACCOUNT

May 10, 2018

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re: EB - 2016-0085

**Innpower Corporation** 

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$170.00 per hour

To receipt, review, on behalf of VECC in the above-noted proceeding.

January 2018

TO: Hours

2.5 Hours @ \$170.00 per hour

425.00

HST @ 13%

55.25

TOTAL AMOUNT DUE AND OWING:

\$ 480.25

Benjamin Dean Segel-Brown Professional Corporation CRA Account Number - 78729 8488 RT0001



File # EB-	EB-2016-0085		Process: Innpower Corporation				
Party:	VECC		Service Pr	ovider Name: Jennifer Chow			
	SERVICE PROVIDER TYPE Legal Counsel	(check one )	Year Called to Bar	Completed Years Practising/Years of Relevant Experience			
	Articling Student/Paralegal Consultant Analyst			Hourly Rate: \$100			
	For Consultant/Analyst:	CV attac	ched rided within previou	HST Rate Charged (enter % ):			

St	atement o	of Fe	es Being	Clair	med	9,8 3			
	Hours	_	urly Rate		ubtotal		HST	T	Total
Pre-hearing Conference			**************************************						
Preparation		\$	100.00	\$	-	\$	-	\$	
Attendance		\$	100.00	\$		\$	17	\$	-
Technical Conference									
Preparation		\$	100.00	\$	% <b>≥</b>	\$	120	\$	2
Attendance		\$	100.00	\$		\$		\$	-
Interrogatories									
Preparation		\$	100.00	\$	-	\$		\$	-
Responses		\$	100.00	\$	(8)	\$	*	\$	-
Issues Conference									
Preparation		\$	100.00	\$	-	\$	-	\$	-
Attendance		\$	100.00	\$		\$	-	\$	-
ADR - Settlement Conference									
Preparation	6.20	\$	100.00	\$	620.00	\$		\$	620.00
Attendance		\$	100.00	\$	720	\$	8 <u>4</u> 8	\$	2
Proposal Preparation		\$	100.00	\$	; <del>=</del>	\$	7.40	\$	÷.
Argument									
Preparation		\$	100.00	\$	3 <del>.</del>	\$	-	\$	
Oral Hearing									
Preparation		\$	100.00	\$	323	\$	(26)	\$	1.8
Attendance		\$	100.00	\$	(s#)	\$	(4)	\$	-
Other Conferences									
Preparation		\$	100.00	\$	-	\$	-	\$	T.
Attendance		\$	100.00	\$	19	\$	· ·	\$	7
Case Management		\$	170.00	\$	127	\$	21	\$	-
TOTAL SERVICE PROVIDER FEES				\$	620.00	\$	:	\$	620.00

May 07, 2018 08:49:26

**Public Interest Advocacy Centre** 

Page: User:

1 7

Client Summary

Date of Report:

**Include Transactions:** 

Jan 01, 1980

May 07, 2018

Report by:

Working Lawyer

Jennifer Chow

6680

Sort by:

Freit.

May 07, 2018 Alphabetic

For Lawyer(s): Client Range:

6680

to

Area of Law Range:

1 to 199

Client#	Mat Client Name		Matter Description	Resp				
	Code			Work in Progress			Billed	
Date	N/B Description		Hours	Fees	Disb.	Hours	Fees	Disb.
6680	OEB EB-2016-0085		OEB	BSB				1
01/03/18	Reviewing file and briefing notes	JC	1.50					
01/03/18	Reviewing file and briefing notes	JC	2.60					
01/04/18	Reviewing file and briefing notes	JC	0.90	1= (7)				
01/26/18	Reviewing draft settlement proposal	JC	1.20	+				
Onte of the last o	tal Client:		6.20	A LANGE	0.00	0.00	0.00	0.00
5.051.03								
Gr:	and Total:		6.20		0.00	0.00	0.00	0.00
E. Stort II								



File # EB-	2016-0085		Process: In	nPower 2017 Rates	
Party:	VECC		Service Pro	vider Name: Bill Harper	
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Practising/Years Experie	of Relevant
	Legal Counsel			38	
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330
	For Consultant/Analyst:	CV attac	ched ided within previous	HST Rate Charged (enter %): 24 months	3.9%

S	tatement	of Fe	ees Being	Cla	imed			
	Hours	_	ourly Rate	_	Subtotal HST		HST	Total
Pre-hearing Conference								
Preparation		\$	330.00	\$	-	\$	-	\$ 3 <del>=</del> 3
Attendance		\$	330.00	\$	-	\$	-	\$ J=8
Technical Conference								
Preparation	4.75 4.8	\$	330.00	\$	1,567.50	\$	61.76	\$ 1,629.26
Attendance	3.75 3.8	\$	330.00	\$	1,237.50	\$	48.76	\$ 1,286.26
Interrogatories								
Preparation	5.0	\$	330.00	\$	1,650.00	\$	65.01	\$ 1,715.01
Responses		\$	330.00	\$	-	\$	15	\$ 57.0
Issues Conference								
Preparation	1.75 13	\$	330.00	\$	412.50	\$	16.25	\$ 428.75
Attendance		\$	330.00	\$	-	\$	:=:	\$ 
ADR - Settlement Conference								
Preparation	8.0	\$	330.00	\$	2,640.00	\$	104.02	\$ 2,744.02
Attendance	6.0	\$	330.00	\$	1,980.00	\$	78.01	\$ 2,058.01
Proposal Preparation	1.0	\$	330.00	\$	330.00	\$	13.00	\$ 343.00
Argument								
Preparation		\$	330.00	\$	=	\$	(H)	\$ -
Oral Hearing								
Preparation	5.75 5.8	\$	330.00	\$	1,897.50	\$	74.76	\$ 1,972.26
Attendance		\$	330.00	\$	2	\$	-	\$ -
Other Conferences						1		
Preparation		\$	330.00	\$	-	\$	-	\$ -
Attendance		\$	330.00	\$	-	\$		\$ -
Case Management		\$	170.00	\$	1 2	\$		\$
TOTAL SERVICE PROVIDER FEES		ICROS.	ALL OF THE	4	11,715.00	\$	461.57	\$ 12,176.57



File # EB-	2016-0085		Process: <u>/r</u>	nnPower 2017 Rates	
Party:	VECC	:	Service Pro	ovider Name: Mark Garner	
	SERVICE PROVIDER TYPE	(check one )	Year Called to Bar	Completed Ye Practising/Years of Experience	Relevant
	Legal Counsel			30	
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$330
	For Consultant/Analyst:	CV prov	ched ided within previous	HST Rate Charged (enter %):	3.9%

S	tatement c	of Fe	ees Being	Cla	imed	8	7-11-7-2	
	Hours	_	urly Rate	_	Subtotal		HST	Total
Pre-hearing Conference								
Preparation		\$	330.00	\$	7/EI	\$	2 <del>0</del> (	\$ -
Attendance		\$	330.00	\$		\$	-	\$ =
Technical Conference								
Preparation		\$	330.00	\$	12	\$	1 4	\$ 2
Attendance	3-25 3.3	\$	330.00	\$	1,072.50	\$	42.26	\$ 1,114.76
Interrogatories	,							
Preparation	11.5	\$	330.00	\$	3,795.00	\$	149.52	\$ 3,944.52
Responses	5.5	\$	330.00	\$	1,815.00	\$	71.51	\$ 1,886.51
Issues Conference								
Preparation		\$	330.00	\$	2 <b>=</b> 2	\$	(#9)	\$ -
Attendance		\$	330.00	\$	:-	\$	-	\$ -
ADR - Settlement Conference								
Preparation		\$	330.00	\$	-	\$	(5)	\$ -
Attendance		\$	330.00	\$	820	\$	4	\$ 12
Proposal Preparation		\$	330.00	\$	-	\$	-	\$ 2
Argument								
Preparation	8.5	\$	330.00	\$	2,805.00	\$	110.52	\$ 2,915.52
Oral Hearing								
Preparation	13.5	\$	330.00	\$	4,455.00	\$	175.53	\$ 4,630.53
Attendance		\$	330.00	\$	(#)	\$	328	\$ 56
Other Conferences								
Preparation	0.25,0.3	\$	330.00	\$	82.50	\$	3.25	\$ 85.75
Attendance		\$	330.00	\$		\$	-	\$ 9.55
Case Management		\$	170.00	\$	127	\$	- Si	\$ -
TOTAL SERVICE PROVIDER FEES				\$	14,025.00	\$	552.59	\$ 14,577.59

#### Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

# **Statement of Costs**

Date	File#
5/8/2018	2018025

Bill To

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

Terms	Docket No.
Net 30	EB-2016-0085

#### Project

#### InnPower 2017 Rates

Serviced	Item	Description	Hours	Rate	Amount
5/24/2017	Interrogatories Preparation	ВН	1	330.00	330.00
5/25/2017	Interrogatories Preparation	BH	0.75	330.00	247.50
6/1/2017	Interrogatories Preparation	MG: Review evidence-prepare IRs	4.5	330.00	1,485.00
6/2/2017	Interrogatories Preparation	MG: Review evidence-prepare IRs/finalize and file	7	330.00	2,310.00
6/12/2017	Interrogatories Preparation	BH	0.75	330.00	247.50
9/4/2017	Technical Conf. Preparation	BH	2.75	330.00	907.50
9/5/2017	Technical Conf. Preparation	ВН	2	330.00	660.00
9/8/2017	Interrogatories Responses	MG: Review IR responses/prepare questions for Technical Conference/prepare letter to Board	4.5	330.00	1,485.00
9/12/2017	Technical Conf. Attendance	BH: Split time with M. Garner and Counsel	3.25	330.00	1,072.50
9/12/2017	Technical Conf. Attendance	MG: Attend Technical Conference 9:30-11:30	3.25	330.00	1,072.50
9/13/2017	Issues Conference Preparation	ВН	0.25	330.00	82.50
9/13/2017	Technical Conf. Attendance	BH	0.5	330.00	165.00
9/13/2017	Other Conf. Preparation	MG: Review draft issues list/discuss with PIAC/CK Legal	0.25	330.00	82.50
9/22/2017	Interrogatories Responses	MG: Review TC Undertaking Responses	1	330.00	330.00
9/27/2017	Oral Hearing Preparation	BH	2	330.00	660.00
7	L.				

HST #10160 6028

Total

#### Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

# Bill To Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

# **Statement of Costs**

Date	File#
5/8/2018	2018025

Terms	Docket No.
Net 30	EB-2016-0085

#### Project

#### InnPower 2017 Rates

Serviced	Item	Description	Hours	Rate	Amount
9/27/2017	Oral Hearing Preparation	MG: Prepare Cross-examination notes General and brief for PIAC/LEGAL	1	330.00	330.00
9/28/2017	Oral Hearing Preparation	BH	2	330.00	660.00
9/28/2017	Oral Hearing Preparation	MG: Panel 2 Cross-examination notes (Capital) and compendium	7	330.00	2,310.00
9/29/2017	Oral Hearing Preparation	BH	1.75	330.00	577.50
9/29/2017	Oral Hearing Preparation	MG: Panel cost of capital - completion of compendium and BH compendium	2.5	330.00	825.00
10/2/2017	Oral Hearing Preparation	MG: Hearing cross briefing with CK/PIAC/Legal by phone to discuss notes	3	330.00	990.00
10/16/2017	Issues Conference Preparation	BH: Pole Attach/MicroFit issues	1	330.00	330.00
10/30/2017	Argument Preparation	MG: Argument draft/review hearing undertakings 9am - 11pm	6	330.00	1,980.00
10/31/2017	Argument Preparation	MG: Review argument draft with VECC/PIAC legal/finalize	2.5	330.00	825.00
11/30/2017	Interrogatories Preparation	BH	2	330.00	660.00
12/4/2017	Interrogatories Preparation	BH	0.5	330.00	165.00
12/29/2017	ADR Preparation	BH	5	330.00	1,650.00
12/30/2017	ADR Preparation	BH	1	330.00	330.00
1/4/2018	ADR Preparation	BH	1	330.00	330.00

HST #10160 6028

Total

Please make cheque payable to "Econalysis Consulting Services Inc."

#### Econalysis Consulting Services Inc.

34 King St East Suite 630 Toronto, Ontario M5C 2X8

# Bill To Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

# **Statement of Costs**

Date	File #		
5/8/2018	2018025		

Terms	Docket No.
Net 30	EB-2016-0085

#### Project

#### InnPower 2017 Rates

Serviced	Item	Description	Hours	Rate	Amount
1/7/2018	ADR Preparation	BH: Review clarification question responses/revise notes	1	330.00	330.00
1/8/2018	ADR Attendance	BH	5.5	330.00	1,815.00
1/9/2018	ADR Attendance	BH: Teleconference	0.5	330.00	165.00
1/29/2018	ADR Proposal Preparation		0.5	330.00	165.00
2/2/2018	ADR Proposal Preparation		0.5	330.00	165.00
		Subtotal			25,740.00
		HST on Sales		13.00%	3,346.20
	1				
		1			
				- 1	
6.1					

HST #10160 6028 \$3,346.20

Total \$29,086.20